e’ = ete’ Inxy=Inx+Iny , x,y>0
ex-y:e_ lnEZInx-lny y X, >0
e’ Y
e” = (e*)’ Inx” = ylnx , x>0
log, x _ Inx
Y o= nf| _x lo = —z — ’ >
e = e & log,a Ina x>0
™ =y logx = Inx , x>0
Inl
MO=f(x) (HRARX ) Ine* = x
X{apxs
In=2"2 = aln|x,|+ blnx,|+ clnx,| - d In|x,|- eln|x]

e
Xy X5

= AR

x?=y?E (x- p)(xty)

=y = (x- )Pt xyt y?)

3

x"= oyt (- )" x

X4y =(xt p)(xP - xpt y?)

n-2

y+ 4 xyn-Z + yn—l)

1 sin®x+cos’x=1, 1+ tan®x=sec’x, 1+ cot’ =csci

2. sin2x= 2sinxcosx,

cos2x = cos’x-sin’x = 1- 2sin’x= 2cos’- 1




10.

1.

12.

13.

, x _ 1+ cosx

S 8T CEAAR )

sin(x* y)= sinxcos yt sin ycosx
cos(xt y)= cosxcosyFsinxsiny
2sinxcosy = sin(x+ y)+ sin(x- y)
2cosxcosy = cos(xt y)+ cos(x- y)

2sinxsin y = cos(x- y)- cos(xt )

A1t sinx =

.X X
sin—1* cos—
2 2

X .X

V1t cosx = \/ECOSE , V1-cosx = \/Esmz

tan x + tan tan x - tan
tan(x+ y) = RS AR e tan(x - y) = S HEL

I- tanxtany ° 1+ tanxtan y
—sinXx= COoSX —CsScx = - cscxcotx
dx dx
—COSXx = -sinx —secx = secxtanx
dx dx
d
—tanx = sec’ x —cotx= -cscix
dx dx

LT . . .3
sin(—- x)= cosx _sin(mT - x) = sinx _sin(—- x)= - cosx
2 ’ ’ 2
. T . . .3
sin(—+ x)= cosx , sin(7T + x)= - sinx, sin(—+ x) = - cosx
2 2
b

n . 3 .
COS(E_ x)=sinx , cos(T - x) = - cosx, COS(T- X)= -sinx

n . 3n .
cos(5+ x)= -sinx , cos(T + x)= - cosx, cos(?+ X) = sinx
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1
LA IE R A 2 5 Ry
3 12 12 3 3
V1] o oo 1 oo 0
2
|E| ) XX EE&E )
X _ X Yy o ¥
1 sinhx= & , coshx= ¢ 2e
CSC hx = 1 hx = 1
= — , sechx=
sinh x cosh x
sinh x cosh x
tanh x = , cothx= —
cosh x sinh x
2. coth’x—csch®x=1 , tanh®x+sech’ =1
3. cosh’x-sinh’x=1 , cothx—cschx =1
d . _ d _
4, —sinhx= coshx —cschx= ~ cschxcothx

dx

d )
—coshx = sinh x

dx

d
— tanhx = sech’x

dx

1

dx
d i}
—sechx = - sechxtanhx

dx

iCOthx = - csch’x
dx

C .- c a1 m n
sin(sin”' x) = x, sin”'(sinx) = x, _E< x< —




4.

.
/N

1

f-IDf(X): X, fo-l(x): x

XL =g 0 g(f)=x H f(g)=x

REE4%

V=, e ) = [g()

d 1 d

- - — —_— = Og'
A T a0 s

g x o Lo L= 229 gy = B9 gy
X odx dx 2

\/g2 (x) |g(x)|

d
—x" = x"(Inx+1
= ( )

isin g(x)=cosg(x)Ug'(x) , icsc g(x)= -cscg(x)cotg(x)lg'(x)
dx dx

icos g(x)=-sing(x)lg'(x) , isec g(x)= -secg(x)tan g(x)Ug'(x)
dx dx

itan g(x) = sec’ g(x)0g'(x) , icotg(x) = - csc’ g(x) 0g'(x)

dx dx

d . d _
—sinhx = coshx |, —cschx™ ~ cschxcothx
dx dx

d . d
—ocoshx = sinhx , —sechx= - sechxtanhx
dx dx
d d _
—tanhx = sech® , —cothx= - csch’x
dx dx

d
—COS =
o g(x)

isin'1 g(x)= ;Dg'(x)
dx V1= g(x)’




d
—tan =
I g(x)=

( )

d n n-1 [
6. d—g(X) = ng(x)" Dg'(x)

x
- g(x) = g(x) '
I e e* g'(x)
d 1 \
Elng(x) " Og'(x)

} \\ )-Lﬁll\\ﬁ:

1 A(a,a) , Bb,b) 0 AB= J(a,- b)*+ (a,- b,)’

LT, oot g(0=

dx

2. [FREARF = 2n02 + 2nrh riER S, b &

3. RkiAKmM = 41’

B FUEARRTR = e+ B+

9. AR
6. Rk

1. AR -

1
=
~N

[38)
Ryl

1
|
=
~

1

J
J
3. |
J

sec’ xdx = tanx+ ¢

secxtan xdx = secx+t ¢

x%dx= —

a‘dx =

, J'cscz xdx = - cotx+t ¢

’ J'cscxcotxdx= -cscxtc

. e oo



10.

1.

12.

13.

14.

19.

16.

11.

Itan xdx = - Injcosx|t ¢ Icotxdx = - Infsinx|+ ¢

ntl

. 1 . ) 1
Icosxsm" xdx = ——sin"'x+ ¢ , J‘smxcos" xdx=-——cos" xtc
n+l n+l

1 1
Iseczxtan” xdx = —ltan"”x+ c Jtanxsec” xdx= —sec" xt ¢
nt n

xe'dx= (x-le'+c | Jxe_"dx= -(xt et c
Inxdx = xIlnx- x+ ¢

sec xdx = ln|secx + tan x| tc

cscxdx = - ln|cscx+ cotx|+ c: ln|cscx cotx|+ ¢

-X

|
|
|
|
e s i
|
|
|
|

e
tc
I © dx-= ln‘1+ e'ltc
Ite” 11
e” cosbxdx = %(a cosbx+ bsinbx)e™ t ¢
a +b
e™ sin bxdx = #(a sinbx - bcosbx)e™ t ¢

2+ b2
1
sec’ xdx = —tanxsecx+ Eln|secx+ tan x|+ ¢

1 1. . x 1 | R
dx= —tan ' =+ ———————dx= —tan
I)cz+a2 g aan a © I(x+b)2+a2 a (

1 . X

Iﬁdx: sin
va - x a

x+b

)t e

a sinx = 2u
H 1+ u’
_ 2
AR (1) = tan> El H COSX = I uz
2 0 1+ u
e dx = > du
H 1+ u



li 1 lim ——=0
x- 0 X X- to X
. .1 . 1
limxsin—= 0 lim xsin—=1
x- 0 X X- to X
4 Iimx“lnx=0 a>0 limx*=1
" Xa 0+ ’ Xo 0§

B, lim=(I+ )" = e
X

X ®

T— #RAARK

|
>

(TS
I 1)

d &2 (X
o0tz [(g,(0g () /(g (<))
x
2. J 2 f(sinx)dx = J'Oz f(cosx)dx | sinx’ cosx FyHETf &
T sin"x = T cos'x e
»[0 sin” x+ cos” x JO cos” x+ sin”" x

3 1 31 n
:z—dx: 2— - —
IO 1+ cot” x ,[o 1+ tan"xdx 4

1 sinx, cosx p=2n

2. tanx, cotx p=n




) _2n
3. sinax , cosax p-—

4 |sinax|, |cosax| pzl
a

n

1 I :f (sin x, cos x)dx = j; £(cos x,sin x)dx

2. [l fGinxdsz 2 " f(sin x)dx

3, ngf(sin X)dx = "5 Io f(sinx)dx

4.  wallis

AL U e L R T
T n R - n n-2 2 2
Iosm xdx—J'Ocos xa’x—Dn_1 -3 o
S = R A=
En on- 3 i

1 B (ny) - (1.0)

2 _ 2 2
Ox = rcosh Hr Sty
D . D y OS 8 < 2” y J:l"
0y = rsinf HG = tan ' =

x

2. FFARKE (x,y.2) - (p, 6,2)

Ox= p cosf 1024 2 )

+ =
Hy:psin@ Dx Y p 0S9S27T,J=p
Hz‘z z-=z

3. FRAHE (3 2) - (19, 0)

0x = rsing cosf

Oy = rsing sinf Xty =g’




Th. &%

1 S atat.a=atart..+ar = @ ca, = ar”!
-r
1 [
2 —=ltx+ Xt x =Y X A<l
1_ x ;0 ° | |
_1\k © _ 1\k
3. tan'x=x-—xP+ Xt CD” pery =y ED e
5 2k+ 1 02k + 1
4. Thxtbx2e o rdyy =y Ly
! ! = k!
B. sinx=x-—x+ le ﬂx%*u RS (1) 2k
. R 2k D) =) ks 1)'
6. cosx=1- lx2 + lx“ poa O b* x4 = - 1) D' xk
) 200 4 T (2k)! TR (2k)!
1 @y stlears D@Dy 0@ DO k2D
2! k!
et 0@ D@kt D)
LTk
8. /'©=nkxa, a, ky (x-0o)" WHilfMRE
2nt1
9. —rsin'y  SOBICe-DFa=0,123,....
T3 ERS:
® -ax’ — ® - ax? — I
1 J_me dx = 2I0e dx = "
“ i S (x,y)dA
. dyd. d ’
2 [ f s [ gL
a Vﬂz'zz \ﬂz
I_aj'mj'ﬁf(x v, z)dxdydz = IJ'J'f(x »)dv

x2 ty 4 2%<a?




y 2. Z:[alaaz ,Cl3] ’ E:[blobZ’bﬂ ’ 0 tr,‘;' EDE ZFE?J -?.

Al ADB= PIHE‘COSH = ab t+ ab, + a;b,

i Tk
AR Ax B= a a, a
b, b, b,

3. p(x0,v0,20) % ax+tby+tcz=d ZFEE
- |ax0+by0+ czo-d|

Na’t b*+ ¢?

A R [aBxac

+)\. ERUE

1 fG+bdx) = f(x)+ f'(0)hx
2. f(xtblx-y+hy)= f(x,p)* fL(oy)Dhxt f(x,p)Ay

3. f(x+Ax)‘=.f(x)+f'(x)Aw%(!x)(Ax)“ ..... (Taylor JEJF )

4. Simpson’s rule

Iabf(x)dx
=LA ()4 A7) 20 ()% 470 et 45, )% S(5,)
L i A Uil ) B T S P i
; , ;
)

5- t,:fgjﬁ\//—\\ﬁ: (j@ﬁ1yfa ) Xut1 - Xn

IR S R E | LU Y R
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